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[MaTn 114: FaLi 2021 TEST 2

You may use the provided unit-circle and formula sheel. You are also allowed a 35 inch card of notes.

Problem 1: (12pts) Match each graph with the appropriate formula by filling in the blank helow each
graph with the letter corresponding the formula:

(A.) y=2cos{ZE) +1,

2.5
B.} vy =2.5sec(04dx), =
(B.) y Ssec(0.4z), tof (o 4X)
(C.) y= ~3csc(dz)= =2
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Problem 2: (8pts) Given sinff = —~1/2 and cos = v/3/2 find csc 6.
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Problem 3: (15pts) Use an appropriate identity to rewrite each of the following expressions:

(or
(A.) cos3zgiibz +sindusindbr = § =<1 32X cos (SX"'.?XJ = | CoS (ZK) )

(B.) sin3z +sin7z = g S;.n (@)w(@) = @.ﬁ-n (sx) W(ZXﬂ

(C.) cosbzcosllz = -—!-2-« ( (o UOK—GK) +- c_a.r(tox-réx)) 2(—;{&)5 X + '6)())

Problem 4: (5pts) Suppose sin A = 0 where 0 < A < 7/2 and cos B = 2/7. Caleulate cos(4 + B).
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tos(A+8) = LAer B — shATAGE = -8 = |Z
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Problem 5: (6pts) Use trigonometric identities to rewrite the following expression in terms of cos 8:
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Problem 6: {6pts) Use trigonometric identities to simplify the following expression:
2sin? @-+cos(20) = [ (—_,,:L(i — Cof (z@)))+cos[29) : 53

T | — car(26) +wx (20)
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Problem 7: {6pts) If o, 3 and 7y are angles in the same triangle, then prove that cos(a+ 3 4cosy = 0.
X+ @+ 7 = T o o+@ = =7
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Problem 8: (6pts) The liney = — /3 passes through the origin in the 2, y-plane. What is the measure

of the angle that the line makes with the negative z-axis 7
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Problem 9: (9pts) Find the exact value of tan (Sin'1 («]f)) in terms of x with the help of a reference

triangle. i
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Problem 10: (6pts) Write the Ianrre of each inverse function in interval notation on the blanks provided:
(T
(A.) range(sin™!) = [ ]

(B.) range(cos™1) = [o, T

Problem 11: (15pts) Find a solution or state no solution exists.

(A)) sinz =03 X = .5;1"{0.3) hﬁj 3oYF cad = [7.Y¢ )

(B.) tanx = —1 == ’,ﬁ‘n‘l [*‘I) _,_[:‘!T_M"‘ - "'/.S_OZ

(C.) cosz =2 [’W"o Sof* ex:‘@ ~le X £ 2 ¥x e .
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Problem 12: (10pts) Find all solutions of tanz =1 for 0 < z < 2.
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Problem 13: (10pts) Find all solutions of cos(3z) = 0 for 0 < z < 2.
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Problem 15: (6pts) Find the length of the side opposite 8 and find 4

122 =90+
; b b= Jiw-5n = Jes
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Problem 16: (5pts) Find the height of the tree.
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30 feet h = ‘/53f;é

Problem 17: (10pts) Find the lengths o and ¢ and find the measure of angle 4 of the triangle pictured
below:

A+ Go°+ 62" = [§0°
\ S P\ = 28°
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Problem 18: {10pts) Find z.
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Problem 19: {5pts) 3{}7 [ aw of losiney,
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Problem 20: (5pts) Find the missing length of the triangle below:

[§°= a"+ aS’ ~ Qa(4S) cos (40)
a® - 23%.300 +30] = O
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IDENT\TIES THus FAR

(D) os?0 + sin*@ =1
© 1 4+ tan?O = se’d

@ et + | = c5c* @

G coes(-e) =
© sin -6) =-5inQ

© tun(-6) =-fun 0@

@ Sec(-8) = sec ©
@ csc(-8) =—cic @

@ ¢t (-8 = - tf

(13 sia(A+e) = sin hus € + wosAsn8
@ Cos (A*8) = sh w8 —5in ASING

@ sin (A-B) = sinAwB - sB Sin 3
@ Gs [A~8]= sAes B4 SinAsin B

@ tan (A+B) = 'f’;ﬂ A‘fi‘?‘:}:‘f -
—~ 40n Aton

(19 sin(26) = Asinbor O

@ Cos (20) =
G foa (26) = ZfenO
| —1an*0
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